                         Computer Networks
                     Multiple Choice Questions
Q.1 In __________ system, there is no fixed division into clients and servers?

(a) Client-server system

(b) Peer-to-Peer system

(c) Both a and b 

(d) None of above
Q.2 _________ is the application that contains audio and video as well as text?
(a) E-mail

(b) Instant messaging

(c) Video conferencing

(d) Both a and c
Q. 3 Smaller networks use_________ and larger networks use _________?

(a) Point-to-point network, Broadcast network

(b) Broadcast network, point-to-point network

(c) Broadcast network, broadcast network 

(d) Point-to-point network, point-to-point network

Q.4 ________ is the protocol used to transport e-mail from one computer to another through a series of other computers along the route?
(a) SMTP

(b) FTP

(c) TCP

(d) Both b and c

Q.5 _________ resolves the numerical address of a network node into its textual name?
(a) DNS

(b) IP

(c) ISP

(d) Both a and b

Q.6 TCP or UDP are defined for the layer:
(a) Application layer

(b) Transport Layer

(c) Network Layer

(d) Internet layer

Q.7 A normal speech conversation measures about:

(a) 0 dB

(b) 20 dB

(c) 40 dB

(d) 60 dB
Q.8 Information transfer in transmission lines is in ________, but information transfer within computers and communication devices is in ________?
(a) Serial, Parallel

(b) Parallel, Serial

(c) Parallel, Parallel

(d) Serial, Serial

Q.9 Each voice channel requires a maximum _______ bandwidth?
(a) 4 kHz

(b) 16 kHz

(c) 64 kHz

(d) 128 kHz

Q.10 Signals at lower frequencies are ________ and at higher frequencies are ________?
(a) Omni directional, directional 

(b) Directional, Omni directional 
(c) Omni directional, Omni directional 

(d) Directional, directional
Q.11 For guided transmission medium, the transmission capacity depends on:
(a) Data Rate, distance

(b) Only on data rate

(c) Only on distance

(d) None of above
Q.12 For analog transmission, __________ are required about every 5-6km, but for digital transmission, ___________ are required every 2-3kms?
(a) amplifiers, amplifiers

(b) repeaters, repeaters

(c) amplifiers, repeaters 
(d) repeaters, amplifiers
Q.13 The basic principle of optical fiber is-
(a) Total Internal Reflection

(b) Total External Reflection 

(c) Partial Internal Reflection 

(d) Partial External Reflection

Q.14 The range of radio spectrum is-
(a) 3 kHz-300GHz

(b) 3 kHz-300MHz
(c) 3 kHz-3000GHz
(d) 2GHz-14GHz
Q.15 The distance between the link stations is called-
(a) Link length

(b) Gap 

(c) Hop length

(d) all of the above

Q.16 The distance between the link stations is dependent on-

(a) Link length

(b) Antenna type and climate

(c) Frequency

(d) all of the above
Q.17 The antenna systems on or near earth are called-

(a) Antenna stations
(b) Earth stations
(c) System stations
(d) all of the above

Q.18 A transmission from an earth station to the satellite is called-

(a) Uplink
(b) Downlink
(c) Middlelink
(d) all of the above
Q.19 A transmission from a satellite to the earth station is called-

(a) Uplink

(b) Downlink

(c) Middlelink

(d) all of the above

Q.20 The electronics in the satellite that takes an uplink signal and converts it to a downlink signal is called as-
(a) Uplink

(b) Downlink

(c) Transponder
(d) all of the above

Q.21 What is the speed of light? 

(a) 3*10⁸ m/s
(b) 3*10⁸ km/s
(c) 6*10⁸ m/s
(d) None of these
Q.22 In a geostationary orbit, _____ satellites separated by_____ cover almost entire earth?

 (a) 3, 45⁰ 

(b) 3, 120⁰

(c) 2, 45⁰

(d) 2, 120⁰
Q.23 In a MEO, _____ satellites separated by_____ cover almost entire earth?

 (a) 12, 45⁰ 

(b) 12, 120⁰

(c) 3, 45⁰

(d) 3, 120⁰
Q.24 Orbocomm is an example of-
(a) GEO

(b) MEO

(c) Big LEO

(d) Little LEO
Q.25 Pure Aloha had a maximum of-
(a) 11% 

(b) 14%
(c) 16.9%
(d) 18.4%
Q.26 _________ describes the fact that a transmitter listens for a carrier wave before trying to send?
(a) Carrier Access
(b) Carrier Sense
(c) Multiple Access
(d) Multiple Sense
Q.27 _________ describes the fact that multiple nodes send and receive on the medium?

(a) Carrier Access

(b) Carrier Sense

(c) Multiple Access

(d) Multiple Sense

Q.28 _________ is used to improve CSMA performance?
(a) Carrier Access

(b) Carrier Sense

(c) Collision protection
(d) Collision detection
Q.29 UDP stands for-

(a) User Datagram Protocol

(b) Universal Datagram Protocol

(c) Unreliable Datagram Protocol

(d) All of the above

Q.30 IP addresses are managed by ______?
(a) IANA

(b) DNS
(c) ANSI
(d) All of the above

Q.31 Fundamental feature of _________ is that each address contains a self-encoding key that identifies the dividing point between the network-prefix and the host-number?

(a) Classless IP addressing

(b) Classful IP addressing

(c) Class A IP addressing

(d) All of the above 
Q.32 Match the following:

                  Set I                                                         Set II

A) LISTEN                                              I.   Send a message to the peer

B) CONNECT                                         II.   Block waiting for an incoming connection

C) RECEIVE                                             III.  Establish a connection with a waiting peer
D) SEND                                                 IV. Block waiting for an incoming message
E) DISCONNECT                                    V. Terminate a connection
(a) A-IV, B-III, C-V, D-I, E-I
(b) A-IV, B-III, C-II, D-I, E-V
(c)  A-II, B-III, C-IV, D-I, E-V
(d)  A-II, B-I, C-IV, D-III, E-V
Q.33 Match the following:

                  Set I                                                         Set II

A) Personal Area Network                                     I.   10 km

B) Local Area Network                                           II.   100km-1000km                

C) Metropolitan Area Network                            III.  10m-1km
D) Wide Area Network                                           IV.  1 m

(a) A-I, B-II, C-III, D-IV

(b) A-IV, B-III, C-I, D-II

(c)  A-IV, B-I, C-III, D-II

(d)  A-IV, B-III, C-II, D-I
Q.34 Find true or false in the following:

In OSI layer:

A) Each layer should perform a well defined task.

B) The function of each layer should not define internationally standardized protocols.

C) Layer boundaries should be chosen to minimize the information flow across the interface.

D) The number of layers should be too high or too small.

E) A layer should be created where a different level of abstraction is not needed.

(a) A-true, B-false, C-false, D-false, E-true

(b) A-true, B-true, C-true, D-false, E-false
(c)  A-true, B-false, C-true, D-false, E-false
(d)  A-false, B-true, C-true, D-false, E-true

Q.35 Classless Inter-Domain Routing was introduced in ______?
(a) 1980

(b) 1983

(c) 1988

(d) 1993

Q.36 FIPS stands for-
(a) Federal Information Processing Standard

(b) Fast Information Processing Standard
(c) Federal Information Progress Standard
(d) Federal Information Performance Standard
Q.37 ________ is a cipher method for encrypting information selected as an official FIPS?
(a) DES
(b) NSA
(c) AES
(d) None of above
Q.38 Block size of DES is-
(a) 8 bits

(b) 16 bits

(c) 32 bits

Q.39 _______ is used to provide authentication of the associated input, called message?

(a) Encryption

(b) Decryption

(c) Digital Signature

(d) Cryptography
Q.40 ________ is a distributed document search and retrieval network protocol designed for the internet?
(a) Gopher
(b) Veronica
(c) Router
(d) Both a and b
Q.41 RARP stands for-
(a) Reverse Address Resolution Protocol
(b) Reverse Address Resumed Protocol
(c) Reverse Address Recovery Protocol
(d) Reverse Allocation Resolution Protocol
Q.42 There are ______ types of configurations for wireless transmission?
(a) 2

(b) 3

(c) 4 

(d) 6

Q.43 ________ is the rules and conventions used in the OSI layers?
(a) Protocol

(b) Interface
(c) Protocol stack
(d) Both b and c
Q.44 ________ is a method of addressing and routing in which a packet is delivered to a single destination?
(a) Unicast 

(b) Multicast

(c) Bicast

(d) Broadcast

Q.45 Mbps stands for-
(a) Mega bits per second

(b) Mega bytes per second

(c) Millions of bits per second
(d) Millions of bytes per second
Q.46 _____ suffers count-to-infinity problem?
(a) Distance-vector algorithm

(b) Standard shortest path algorithm

(c) Bellman-Ford algorithm

(d) all of the above

Q.47 According to _______, there is no problem with frequency changes due to the relative motion of the satellite and antennas on earth, because satellite is stationary in relation to the earth?
(a) Walter effect
(b) Gordon effect
(c) Modigillani effect
(d) Doppler effect
Q.48 BSC is developed by-
(a) TCS

(b) IBM

(c) Satyam

(d) Infosys

Q.49 The header of 802.11 contains ______ addresses?

(a) 2

(b) 3

(c) 4 

(d) 6

Q.50 Voice and data are carried by _______ channels?
(a) H channel

(b) D channel

(c) E channel

(d) Bearer channel
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